Name:__________________________________
Period:______
 Date:___________

Genetic Predictions Part 1: Predicting Outcomes

1. In purple people eaters, one-horn is dominant and no horns is recessive.  First, make a written prediction of the offspring of a cross between a purple people eater that is heterozygous for horns with a purple people eater that does not have horns.  Draw a Punnett square showing this cross.  

Written prediction:  __________________________________________________________

__________________________________________________________________________

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

2. A green-leafed luboplant (fictional) is crossed with a luboplant with yellow-striped leaves.  The cross produces 185 green-leafed luboplants.   First, make a written prediction of the offspring of a cross between two of the green-leafed luboplants obtained from the initial parent plant crossing.  Draw a Punnett square showing this cross.  

Written prediction:  __________________________________________________________

__________________________________________________________________________

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

3.
Mendel found that crossing wrinkle-seeded plants with pure round-seeded plants produced only 
round-seeded plants.  .   First, make a written prediction of how this could have occurred.  
Draw a Punnett square showing this cross.  

Written prediction:  __________________________________________________________

__________________________________________________________________________

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

4.
Let’s say that in seals, the gene for the length of the whiskers has two alleles.  The dominant 
allele (W) codes long whiskers and the recessive allele (w) codes fro short whiskers.

A. What percentage of offspring would be expected to have short whiskers from the cross of two long-whiskered seals, one parent is homozygous dominant and the other seal is heterozygous?  Construct a Punnett square to support your answer.

Answer:  ______________________________________________________________

	
	

	
	


B. If one parent seal is homozygous long-whiskered and the other is homozygous short-whiskered, what percent of the offspring would have short whiskers?  Construct a Punnett square to support your answer.

Answer:  ______________________________________________________________

	
	

	
	


5. A green-leafed fuzzywhatsit (fictional) is crossed with a fuzzywhatsit with yellow-striped leaves.  The cross produces 125 green-leafed fuzzywhatsits.  Construct of Punnett square of this cross.

	
	

	
	


A.
What are the genotypes of both parents?
______________________

B.
Summarize the genotypes and phenotypes of the offspring that would be produced by crossing two of the green-leafed fuzzywhatsits obtained from the initial cross.

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

In dogs, there is a hereditary deafness caused by a recessive gene, “d”.  A kennel owner has a male dog that she wanted to use for breeding purposes if possible.  The dog can hear, so the owner knows his genotype is either DD or Dd.  If the dog’s genotype is Dd, the owner does not wish to use him for breeding so that the deafness gene will not be passed on.  This can be tested by breeding the dog to a deaf female (dd).

A. Draw the Punnett squares to illustrate these two possible crosses.  

Possibility #1

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

Possibility #2

	
	

	
	


Genotype(s) of Offspring:
_______________________________
Ratio:____________

Phenotype(s) of Offspring:
_______________________________
Ratio:____________

B. Using a Punnett square, show how two hearing dogs could produce deaf offspring.

	
	

	
	


